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The exam has 20 item questions in blank and each question is 5 points. There are 100 poinis in fotal.

Question 1. Consider a quantity-competition oligopolistic market. There are 9 firms and each
firm has a cost ¢(g)=0.28q+16. Suppose That market demand is Q=1,000-1,000P. Answer the
following questions, Find firm's output g= and profit z= , market price
P= and output Q= '

Question 2. Consider a monopolistic market. Firm's cost is TC(Q)- 0.5¢F +2Q+6,000,000 and
market demand is Q(P)=10,000- ZF. Answer the following questions.

(a) Calculate monopoly quantity Qu= , monopoly profit z=_ , and social
surplus 55,z

(b) Under the first best pricing regulation, calculate monopoly quantity Qe
monopoly profit = , and social surplus S5¢#

Question 3. Consider a duopoly market. Firm's cost is C(g;)= 0.28¢: and Q(P)=1,000-1,000F.
Answer the following questions. |
(a) Suppose that these two firms compete in quantity (Cournot competition). Calculate firm's
output ¢= , firm U's profit m=
(b) Suppose ‘rha‘r these two firms collude in quantity (Cartel collusuon) Calculate firm's output |

gi= , firm 1's profit mm=
(c) Suppose that firm 1 is a quantity setter and firm 2 is a quantity follower (Stackelberg
competition). Calculate firm I's output_g;= and profit m=

Question 4. This is about a dominated oligopolistic market. Consider a dominant firm O with

large market share and three fringe firms F with small market share. Dominant firm D is the

price setter and three fringe firms £ are price followers in the market. Market demand is

Q(P)=10,000-P and the supply of three fringe firms is Q(F)=P-6,000.

(a) Find the demand of dominant firm Dy=_

(b) Suppose marginal cost of dominant firm is Mcy=5,000, Flnd market price P= .
the output of dominant firm Q= and the output of fringe firms @~




